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ELEMENTARY MATHEMATICS
Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi
and English. Each itern comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item,

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i} There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

{iii} If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.
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1. The HCF of two numbers is 98 and 4. What is the HCF of a?b? + 2¢%p2
their LCM is 2352, The sum of the

and (ab)’ -4a?b? ?
numbers may be

(@) 1372 @ ab
2:.3
(b) 1398 o Wl
fc) 1426 G
(d] 1484 @ ab?

5. What is the LCM of x? +2x-8§,

2. Consider the following statements : x3 —4x2 L4x and x2 +4x?
1. To obtain prime numbers less 5
than 121, we are to reject all @ x{x+4)ix-2)

the multiples of 2, 3, 5and 7. (b) x(x+4){x-2)

2. Every composite number less
than 121 is divisible by a prime fe]  x{x+4)x+ 2)2
number less than 11.

(dj x(x+4)?%(x-2)
Which of the above statements

is/are correct?

6. A can do a piece of work in 4 days
{a) 1 only and B can complete the same work
in 12 days. What is the number of

(b) 2 only days required to do the same work
{c) Both 1 and 2 together?
2 b} 3
{d) Neither 1 nor 2 {a) {b}
fc] 4 (d 5

3. Which one is one of the factors of . _
7. Consider the following statements :

1 1
x2+—2+8[x+-£]+14? 1. x+3 is the factor of
* x3 +92x? +3x+ 8.
fa) x+ 1 +1 2. x-2 is the factor of
X x3 +2x% +3x +8
1 Which of the statements given
(b) x+ = +3 above is/are correct?
1 fa} 1 only
fc} x+—+6
x (b} 2 only
i fc) Both 1 and 2
{d) x+—+7 _
x (d} Neither 1 nor 2
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1. < gEmalt %1 HCF 98 & 3t 3m LeM
2352 §| GEma w1 4 = 8 gEa &Y

fa) 1372
(b} 1398
fc) 1426
{d) 1484

2. Frfeafas = ) =R it .

1. 121 § 3 3w sEN TR &
fm el 2, 3, 5 3 7 & wht
wefer w4 §)

2. 121 ¥ B TS W 9@, 11
¥ Bt vy v | v )
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o) e 1

(b) <o 2

() 13 2t

(d) Ad13Mad2

3. Pr=fafas & 4 #h-w

x2 +l+8(x+-l]+14
x2 X

(b) x+—+3
fc] x+—+6

fdi x+—+7
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. a?b* + 2a%p? N (ab)” -4a?b° =

HCF &1 87
(a} ab

{b} a2b3
¢ a*b?

{d) a*b?

. x2+2x—8, x3 -4x2 yax aflt

x% +4x F LCM w1 27
{a) x(x+4)(x-2}2
(b} xix+4)(x-2)
0 xix+4)(x+2)?

{d) xix+4%(x-2

. Th FE R A, 4 fE R g o}

s wd A B, 12 Rt Fw R
a1 ®| I w7 R oF WY O e &
fore 3-8 foram oY < srreraeran 87

(@) 2 (b) 3
c) 4 (d} 5

. Freferftas a9t ® foem 6l .

1. x3+42x2+3x+8 & TPHETE
x+3%1

2. x3+2x? +3x+8 W IPHGEUE
x-28

Iode FuAt § ¥ FA-W/A w327
fa) Fa& 1

(b} = 2

¢ 1 322+

d Td@1siad2
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8. A person sold an article for € 3,600
and got a profit of 20%. Had he sold
the article for ¢ 3,150, how much

12. In a class of

110 students,

x students take both Mathematics

and Statistics,

2x +20 students

profit would he have got?
{a) 4%

(b} 5%

take Mathematics and 2x+ 30
students take Statistics. There
@are no students who  take

neither Mathematics nor Statistics.

What is x equal to?

(c} 6%
(d 10%

9. What is
(2 + 2 x - y}-(x - v)®
x2y_xyz

equal to?
(aj 1

(b} 2

(c) 4

(d} -2

10. If x+y-7=0 and 3Bx+y-13=0,
then what is 4x2 + y2 +4xy equal
to?

fa) 75
(b} 85
fc) 91
{d} 100
11. If the expression x° +3x2 +4x+k

has a factor x + 5, then what is the
value of k?

fa) -70
{b) 70
{c) 48
(d) -48
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fa} 15
{¢) 25

b} 20
(d} 30

13. If x2 =6+J6+J6+,/6+---m, then

what-is one of the values of x equal

to?
(a) 6
(b} S
(c) 4
(d} 3

14. The quantity which must be added to

(1- x){1+ x?) to obtain x

3 is

(@) 2x3 +3x? +x+1

(b} 2x3 + x2 + x

=1

fc) 2x3 - x24+x-1

(d ~x?%+x-1

15. Consider the following statements :

1. 7710312401

is divisible by 11.

2. 173 is a prime number.

Which of the statements given
above is/are correct?

fa} 1 only
{b} 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2
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{a) 4%
(b) 5%
¢} 6%

{d) 10%

3, tx2+y2)£x—y}—2(x—ya3m§@%?
XY=y
(@) 1
fb) 2
) 4
(d -2

10. IR x+y-7=0 ¥ 3x+y-13=0
R, M ax? + 42 +4xy s g B2

fa) 75
fb) 85
fc) 91
{d} 100

11. 3 &% x2 +3x% +4x+k F TH
TOAEYE X+ 5 &, O kT WA F=TR7

fa) -70
(b) 70
fc) 48

{d) -48
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12. 110 et &t o wean # x ferenfilat 3
nferg s gifers €, 2x + 20 fernfifat
3 it @ 2x + 30 faenfiat 3 wifesd
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(a) 15 (b) 20

fc) 25 (d) 30
13. IR

x? = 6+J6+1‘/—6-+—6Jﬁ

2, @ x W TH 9H fRaE gy 27
faj 6
b} S
fc) 4
d) 3
14, x3 w3 & foaw (1- 91+ x2) d s viw

Al avaF 87

fa) 2x>+3x%+x+1

{b) 2x3 + x2 4 x-1

e) 2x3-x?+x-1

{d ~x*+x-1

15. fFm=fafaa Faat o feEm fim .
1. 7710312401, 11 & fpyeg 2
2. 173 UF 9 TEA 2
IUT HYAL W FA-[/A wd B/ET
fa) %ad 1
(b) e 2
fc) 13 2eF
(d) Id 1R 2
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16. 19° +21° is divisible by 20. If

X Yy i
fa} 10 only 5"‘5—4911‘1 ‘;"‘;—1
(b) 20 only then what is x + y equal to?
fcj both 10 and 20 fa) 11
{d) neither 10 nor 20 (b} 10
fc) 9
17. If 492 - 252 = 37x, then what is x @ 8
equal to?
fa) 64 21. A person’s salary has increased
from € 7,200 to € 8,100. What is the
(b} 74 percentage increase in his salary?
fc) 48 fa} 25% (b) 18%
(d) 42 | () 162% (@ 124%
18. For what values of k will 22. X can do a work in 16 days. In how
days will the work be
4x> +9x* - 7x3 - 5x2 — 4kx + 3k 2 marny  day
* x x % kx completed by Y if the efficiency of
contain x -1 as a factor? Y is 60% more than that of X?
(@ 3, __12_ {a} 10 days
fb) 12 days
(b} 3, ~1 fc) 25 days
(c) 0, % (d) 30 days
(d 1, '13' 23. Two lots of onions with equal

quarntity, one costing ¥ 10 per kg

and the other costing ¥ 15 per kg,

are mixed together and whole lot is

divisible by sold at &€ 15 per kg. What is the
profit or loss?

19. x(y? -2+ yz? - x?) +z(x2 - y?) is

{a) {y-z) only
fb} {z- x) only

{¢/ both (y-z) and {z- x}

{a) 10% loss
(b) 10% profit
fc} 20% profit
{d] meither (y-z) nor z- x) (d) 20% loss
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